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St B s | me | G | 48 | EE Bﬁzé?éﬂ% e ew | &b
30100 |72V Z A 40 1,917 54 54 38| By 404
Y3002 |=4 (&) 15 7,873 1,296 162 162\ BW 15ke
31700 |F ¥~ 40 1, 307 432 432 19BN 44— R
31900 |#a & 4 1,134 324 324 3241 BN 4kg
34400 | b= b 30 7,333 281 281 108| &M 30kg
34460 | =t E b 5 1,501 356 356 216 &M 5kg
Y3058 |HHE b b 10 2,160 216 216 216| B 10kg
34100 \HAI 40 3, 966 22 22 17|\ &M 2027
34140 |UUZELR I 2 259 22 22 22| B 127
34200 |FA/I 61 4,901 86 76 76| BN 61kg
34500 B —< 18 5, 832 324 324 324| BW 18kg
35100 IWAWF A 1 702 540 540 540 | BP9 kg
36200 |BHE 30 1,944 65 65 65| &M 30kg
36600 |TmEh¥ 110 14, 040 140 140 108| &M 110kg
34700 |5 AT L 98 32, 508 162 162 24| & 32674~
34930 | LA ¥ 25 8, 348 130 119 36| &M 847
Y3029 [ & HbAZL (L) 5 380 24 24 24| B 164
34800 |B< B 12 8, 554 81 65 43| BN 121% v b
44500 |7 b b 10 2, 808 281 281 281 | &P 10kg
Y4010 [/NET WA 79 15, 444 702 702 4321 &M 241#
71011 |27 1L —3 23, 595 55 39 33| &M 6007
71040 |EANE 2,310 77 77 it=1y! 304
71150 |LiE 605 61 61 61| B 1038
71286 | v —J1)v 1, 980 66 66 66| 5 304
30100 |72WVWZ A L 40 9, 936 2, 484 2, 484 2, 484 | E 7 44— A
30300 | A& 30 4,568 108 76 76| AEA 60/ 7
30300 | AZ L 110 28, 512 2,592 2, 592 2, 592 | & I 11— A
31100 (B3¢ L 30 5, 400 2,700 2,700 2, 700| &% 24— A
33810 |HIEX L 4 713 38 38 BERS 204&
31700 |F ¥ XY 90 5, 832 648 648 648 | = W 9 — A
31700 |F% ¥ XY 90 12, 636 1, 404 1,404 - 1,404|BR B 94— R
31800 |iE 9 A EL 8 1, 404 65 65 5| R 4048
31950 |HHE 12 1, 296 324 324 324 |BIR S Ar—2A
31900 (& 15 972 32 32 2|ER 303 (500g)
| 31900 [ & L 5 2, 700 270 270 270 | BE VR B 1038 (500g)
32800 &6 4 216 76 5 5| &Rt 403
36800 |[HoE X9 27 3, 208 119 119 119|BIRE 27kg
34400 | b= b 36 5, 184 864 756 324|BIR B 94— 2
34400 | b= b 3L 24 3,240 540 540 540 |REAR 87— A
34100 (AL 2L 110 9, 288 540 378 38| IR B 2247 — R
34500 |°—= 10 3,391 86 65 65|FEVL B 504%
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s i BB i I 2H
a— K % iR | PR (kg) &% (M) =ik il w2l | E (Efr)
34520 IR —=1 778 270 270 270| IR B 3kg
Y3091 | F—E—< 810 270 270 270\ & 3kg
36200 |[BEnE 42 1, 361 32 32 2 |ERE 42kg
36200 |BHE 3L 140 27, 216 1,944 1,944 1,944 |EIR B 1447 — A
36600 |7 EhE 2L 80 18, 144 4,536 - 4,536 4,536 |- 445 —R
33400 | L& R L 22 2,916 54 54 54| &2 541
33410 |Hr=—1L & R L 1,620 54 54 54| BT 30/H
33600 |/ U 281 162 162 119| K4 248
38100 {AE LW 2T B L 3,823 86 65 54| "B IR 60,3 7
34910 | &K 2, 700 2, 700 2,700 2, 700 |2 B 1r—2A
34980 |~ F 12 2,592 76 65 541 B & 404
Y3065 | AA — ha—V S 22 2,376 22 22 22| R IF§ 11074
31500 |/hASE 12 2,376 54 32 32 |%& [ 603
37560 |BBIE 1 2, 376 238 238 238\ K% 0%y 7
36400 |72 2S 10 3,024 3, 024 3,024 3, 024 |Ar¥EE 17—
38521 | S L UHE 6 2, 268 76 76 76| 1& [F 3048
Y4008 [N 2 A 14 10, 843 270 270 119|478 488y 7
41360 |IR] PN BRAR 2L 20 3, 456 1,728 1,728 1, 728 |REAS 24— R
41362 |V a—i— (H) 30 2,484 1,188 864 432 |fEA 3r—R
42850 |EMRD AT 20 6, 480 3, 240 3, 240 3, 240 | H#& 24— A
44700 |[F = Y — M 6 5, 184 162 162 162| L% 3282 7
Y5006 |EEIR (B4L) 80 38,232 4,806| 4,806] 4,752 BAE 87—
Y5006 (2257 (&4 28 12,139 303 303 303|BRE 408y 7
&t 1, 850 403, 376‘ ’ \ J
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